x1073

<d @> (rad)
o
=
a1

< o cot(y) >

0.05]

-0.05

-0.15

LI L L L L

-0.2

L R s e R .

Ratio
Ratl

3 2 -1 0 1 2 3 093
TP n (PCA to beamline)

0.95!

-2 -1 0 1 2 3
TP n (PCA to beamline)

—— DQM_V0001_R000000001__Global_CMSSW_mkii50i4_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt50i5_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt50i6_RECO

100 T T T T T = 100

< 00, > (M)

.......................................

......................................

S SR TR DUUUR FUUNE IOU T

RatioI

O P U DU TN SN T

R e 1 2 3 0953
TP n (PCA to beamline)

<0 / > (Y0
PPy > (70)
D
I

Ratio

3 -2 -1 0 1 2 3
TP n (PCA to beamline)

0.95

-2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


